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Audience Survey

® How many people think that saving dollars at the drill & blast
will save dollars in the over all cost of operation ?
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Estimated Production Tonnages

» Crush, Size, and Convey Product values

» 1x0 = 61tph

» 1% x5/8 = 166 tph

» 5/8x 3/16 = 113 tph

» 3/16x0 = 61tph

» Sub Total = 400 tph

» 8 hours = 3200 tons per day
» 16,000 tons per week

» 800,000 tons per year
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Estimated Production Revenue

ARy

» Crush, Size, and Convey Product values

>

>
>
>

1x0=2%$4.00

1Y x 5/8”" = $5.00
5/8” x 3/16” = $6.00
3/16” x 0 =$2.00

> 1x0 @ $4.00 X 61 tph

=$ 244.00

> 1Y% x5/8 @ $5.00 X 166 tph = $ 830.00
> 5/8 x 3/16 @ $6.00 X 113 tph = $ 678.00

> 3/16 X 0 @ $2.00 X 61 tph

» Sub Total
» 8 hours per day = $15,000 per day

=$122.00

= $ 1874.00 dollars per hour

> 40 hours per week = $75,000 per week

» 50 weeks per year = $3,750,000 possible revenue per year
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[%4] Blasted rock extra coarse (<1000 mm)
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Audience Survey

® How many people see the use of a pick used in secondary
breakage in their operations today?
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Estimated Production Tonnages

» Crush, Size, and Convey Product values
» 1x0= 40 tph

» 1Y% x5/8= 136tph

» 5/8 x 3/16 = 118 tph

» 3/16 x 0= 55 tph

» Sub Total = 350 tph

» 8hours= 2800 tons per day

» 14,000 tons per week

» 700,000 tons per year ( 13% drop)

Im DYNO

QUARRY Dyno Nobel

m




Estimated Production Revenue
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» Crush, Size, and Convey Product values
» 1x0=%$4.00

1 %4 x 5/8 = $5.00

5/8 x 3/16 = $6.00

3/16 x 0 = $2.00

V V VY

»>1x0 @ 4.00 X 40 tph = $160.00
>1 Y, x5/8 @ 5.00 X 136 tph = $ 680.00
»5/8 x 3/16 @ 6.00 X 118 tph = $ 708.00
»>3/16 x 0 @ 2.00 X 55tph = $ 110.00

»Sub Total =9 1658.00 dollars per hour

»8 hours per day = $13264 per day

»>40 hours per week = $66,320 per week
»50 weeks per year = $3,316,000 per year
>($434,000 12% reduction)
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Estimated Production Tonnages

» Crush, Size, and Convey Product values
» 1x0= 60 tph

» 1Y% x5/8= 204tph

» 5/8 x 3/16 = 133 tph

» 3/16 x 0= 77 tph

» Sub Total = 475 tph

» 8 hours = 3800 tons per day

» 19,000 tons per week

» 950,000 tons per year ( 19% increase)
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Estimated Production Revenue

» Crush, Size, and Convey Product values
» 1x0=%$4.00
» 1%, x5/8=%5.00
» 5/8 x 3/16 = $6.00
» 3/16 x 0 =%$2.00

»>1x0 @ $4.00 X 60 tph =$ 240.00
»>1 Y4 x5/8 @ $5.00 X 204 tph =$ 1020.00
»>5/8 x 3/16 @ $6.00 X 133 tph =% 798.00
»>3/16 x0 @ $2.00 X 77tph =% 154.00

»>Sub Total =$ 2212.00 dollars per hour
»8 hours per day = $17,696 per day

»>40 hours per week = $88,480 per week

»50 weeks per year = $4,424,000 per year

»>($674,000 18% increase)
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Audience Surve

® How many people think that saving dollars at the drill & blast
will save dollars in the over all cost of operation ?
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There are big dollars at stake
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Now for a Demonstration
of
Plantdesignere 10.0

PLANTDESIGNER 10

Using a finer blast curve
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